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Consider the following system with G(s) = 5 39 .
57+ 115" +10s
(a) Plot the Bode plot of G(s). (10%)

(b) Determinc the parameters of the controller C(s) = Ms+2)

(s+p)
method, such that the dominant closed loop poles are located at
-2x2j(15%)
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Fig.1

by root locus

2. (25%)

Determine the system transfer function G(s) using the following step input
time response, and plot the corresponding Nyquist plot. Determine the range of k
such that the closed-loop system is stable.
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Problem 3, 20%

Find the Twnsfer $function fram U te Y, for
The control system Shown beluw,

Figure of Prob(em 3

Problem 4, 30 %

(A Consider  insar System
=A%+ RY
whete x<R™! e R™, ASR™N Be pMr
Now, assume input UL s given, Show the so{ub/'m
’)LLJo) can be der,ved 2s

X(B)== e o)+ j "B U dr

) Use the above formulus te find the solutim of the
%(owmg System

A — 0 | ’,k{ [OJ . B
{722.]\‘[“2- -3 ][Q’;]+ | U , Yi(0)= X3 (0)=0
where W(E)= 1 , t=o ,



